

$$S = \frac{m+1}{\alpha\beta} \rightarrow \frac{m+1}{\alpha\beta} = -\frac{1}{\alpha\beta} \rightarrow m = -1$$

$$\frac{\alpha+\beta+\sqrt{\alpha\beta}}{\alpha\beta} = \frac{1}{\alpha\beta} \rightarrow \frac{m+1}{\alpha\beta} + \sqrt{\frac{1}{\alpha\beta}} = \frac{1}{\alpha\beta} \rightarrow m+1+\sqrt{1} = 1 \rightarrow m = -1$$

$$\frac{1}{\alpha\beta} = -1 \rightarrow \alpha\beta = -1$$

$$\alpha + \beta = 1 \rightarrow \beta = 1 - \alpha$$

$$\alpha\beta = -1 \Rightarrow \alpha(1-\alpha) = -1$$

$$\alpha^2 - \alpha + 1 = 0 \rightarrow \alpha = 1, \beta = 0 \rightarrow \text{K.S.} = 1$$

$$\alpha = 0, \beta = -1$$

$$\alpha = -1 \rightarrow -1 + k + 9 - 1 = 1 \rightarrow k = -7$$

Scanned with CamScanner

$$a' + b' = \frac{a}{r} + \frac{b}{r}$$

$$a' + b' = a' + b' + \varepsilon = -\frac{1}{2} + \varepsilon = \frac{1}{r} \rightarrow \frac{1}{r} = \frac{a}{r} \rightarrow a = 1$$

$$r m' = r m + b \Rightarrow \frac{b}{r} = p = (\alpha' + r)(\beta' + r) = \alpha' \beta' + r(\alpha' + \beta') + r^2 = -\frac{1}{12} + r$$

$$b = -\frac{1}{12} + r \quad \left[\frac{ab}{\varepsilon} \right] = \left[\frac{r^2}{\varepsilon} \right] = 1$$

$$a m' = a m + b \Rightarrow \frac{b}{r} = p = (\alpha' + r)(\beta' + r) = \alpha' \beta' + r(\alpha' + \beta') + r^2 = -\frac{1}{12} + r$$

$$\alpha' + \beta' = S - r = 1 + \frac{1}{r} \quad r \alpha' \beta' + r \alpha' + r \beta' + r^2 = 1 \quad S = 1 \Rightarrow \alpha' + \beta' = 1 - \alpha' \beta' = 1$$

$$\alpha' + \beta' = S - r = 1 + \frac{1}{r} \quad r \alpha' \beta' + r \alpha' + r \beta' + r^2 = 1 \quad r \alpha' + r \beta' = 1 - r^2 - r \alpha' \beta' = 1 - r^2 - r \left(\frac{1}{r} - 1 \right) = 1 - r^2 - 1 + r = -r^2 + r$$

$$\alpha' - \beta' = \frac{\sqrt{D}}{|a|} = \frac{\sqrt{a^2 + \varepsilon a b}}{|a|} \rightarrow \frac{\sqrt{a^2 + \varepsilon a r}}{|a|} = \sqrt{1 - \frac{1}{a}} = \frac{1}{\sqrt{a}}$$

$$m' = (a+1)m + a = 0 \quad |a=1|$$

$$\alpha' - \beta' = \frac{\sqrt{D}}{|a|} = \frac{\sqrt{(a+1)^2 - \varepsilon a}}{|a|}$$

$$m' = (2a+1)m + b \Rightarrow$$

$$\frac{|a-1|}{|a|} = r \rightarrow r|a| = |a-1| \quad r a, r a + r r \rightarrow \beta' - \alpha' = r \rightarrow \frac{\sqrt{D}}{|a|} = \frac{\sqrt{(2a+1)^2 - \varepsilon b}}{|a|}$$

$$\frac{\sqrt{(2a+1)^2 - \varepsilon b}}{|a|} = r \rightarrow \sqrt{1 - r - \varepsilon b} = r \rightarrow b = -\frac{\varepsilon}{r}$$

$$p = \frac{b}{r} = -\frac{\varepsilon}{r^2} \quad -1 - (-\frac{\varepsilon}{r}) = \frac{1}{r} = \alpha' \beta' - \alpha' \beta' = 0$$

$$m' = 2a-1-m' = 0 \quad \alpha' \beta' = \frac{1}{r^2} = \frac{1}{r^2}$$

$$\frac{(\alpha' + \beta')^2 - 2\alpha' \beta'}{-1} = 1 + r(1+m') = 1 + r(1+m')$$

$$m' = r m' + c \rightarrow m = 0 \rightarrow c$$

$$a = (x, y) \quad b = (-a, y) \quad y_0 = 1$$

$$c \beta' = a \rightarrow (\alpha' + \beta')^2 - 2\alpha' \beta' = a \rightarrow 5 = 2 \alpha' \beta'$$

$$r = \sqrt{a + p} \quad 3 = \sqrt{a + p}$$

$$r_n^r - a_n + b = 0 \begin{cases} S = \frac{a}{r} \\ P = \frac{b}{r} \end{cases}$$

$$r_n^r + a_n - 4 \begin{cases} S = \frac{1}{r} \rightarrow \alpha + \beta = \frac{1}{r} = \frac{a}{r} \rightarrow \alpha = 1 \\ P = -r \rightarrow b = -4 \end{cases}$$

$$\left[\frac{ab}{r} \right] = \frac{-r}{r} = -1$$

نکته

$$\alpha + \beta = \alpha' + \beta' + \varepsilon = -\frac{1}{r} + \varepsilon = \frac{1}{r} \rightarrow \frac{1}{r} = \frac{a}{r} \rightarrow a = 1$$

$$r_n^r - v_n + b = 0$$

$$\frac{b}{r} = P = (\alpha' + r)(\beta' + r) = \alpha'\beta' + r(\alpha' + \beta') + \varepsilon = \frac{-4}{12} + \varepsilon$$

$$ab = v_n \left(\frac{-4}{r} + \varepsilon \right) \\ -4 + \varepsilon r = r^2$$

$$b = -\frac{4}{r} + 4$$

$$\left[\frac{ab}{\varepsilon} \right] = \left[\frac{r^2}{\varepsilon} \right] = 1$$

$$a_n^r - a_n = 0$$

$$\varepsilon + \beta' + r, \alpha' - r, \beta \leq 14$$

$$\beta, \alpha$$

نکته

14

$$S = 1 \rightarrow \alpha + \beta = 1 \rightarrow \alpha + \beta = 1$$

$$\beta' + \alpha' = S - r, P = 1 + \frac{r^2}{a}$$

$$r, \beta' + r, \alpha' - r, \beta \leq 14$$

$$r, (\beta' + \alpha') + (r, \beta) (\beta - 1) = r, (1 + \frac{r^2}{a}) + r, \frac{b}{a} = r, \frac{b}{a} + 4 \cdot \frac{b}{a} \\ r, + 4 \cdot \frac{b}{a} = 14 \rightarrow \frac{b}{a} = -\frac{1}{r} \rightarrow b = -\frac{a}{r}$$

$$\alpha - \beta = \frac{\sqrt{a}}{|a|} = \frac{\sqrt{a^2 + \varepsilon ab}}{|a|}$$

$$\rightarrow \frac{\sqrt{a^2 + \varepsilon \frac{a^2}{r}}}{|a|} = \sqrt{1 - \frac{1}{a}} = \frac{1}{\sqrt{a}}$$

$$n^r - (a+1)n + a = 0 \quad |a=1|$$

$$\alpha' - \beta' = \frac{\sqrt{a}}{|a|} = \frac{\sqrt{(a+1) - \varepsilon a}}{|a|}$$

$$n^r - (a+1)n + b = 0$$

نکته

$$a = r, a+1, r, a+1 \leq 14$$

$$\alpha' - \beta' = r + r - (r, a+1) = r$$

$$\alpha, \beta$$

$$\alpha, \beta - \alpha, \beta' \leq 14$$

$$\frac{|a-1|}{|a|} = r \rightarrow r|a| = |a-1|$$

$$r, a, r, a+1, r \rightarrow \beta' - \alpha' = r \rightarrow \frac{\sqrt{a}}{|a|} = \frac{\sqrt{(a+1) - \varepsilon b}}{|a|}$$

$$r, a = a-1 \rightarrow a = -1$$

$$\frac{\sqrt{(a+1) - \varepsilon b}}{|a|} = r \rightarrow \sqrt{-1 - \varepsilon b} = r \rightarrow b = -\frac{r^2}{\varepsilon}$$

$$r, a = 1 - a \rightarrow a = -1 \rightarrow a = \frac{1}{r}$$

$$P = \frac{b}{r} = -\frac{r}{r}$$

$$-1 - (-\frac{r}{r}) = \frac{1}{r} = \alpha, \beta - \alpha, \beta'$$

$$\alpha' = -1 \quad \beta' = 1 \rightarrow \alpha, \beta' \leq 14$$

$$a_1 = 1, a_2 = a \rightarrow \frac{a}{r} \quad (1)$$

$$P = r$$

$$a^r - (r, a+1)a + b = 0 \rightarrow a^r - 1 \cdot a + b = 0$$

$$S = r, a + r = 1 \rightarrow \alpha = r$$

$$r, P = r$$

$$a + r, a, a'$$

$$r, P - r = 1$$

$$ra \leq 1 - a \rightarrow ra \leq 1 \rightarrow a \leq \frac{1}{r} \quad \text{if } r > 1$$

$$a' \leq -1 \quad b' \leq 1 \rightarrow a/b' \leq -1$$

$$m' \leq 1 - m' \leq 0$$

$$\alpha + \beta \leq 1 \leq \alpha + \beta$$

$$\frac{(\alpha + \beta)^2 - 2\alpha\beta}{-1} = 1 + r(1 - m') = 1 + r m'$$

(5)

$$y_{\min} = r m' + c \rightarrow m' \leq 0 \rightarrow c$$

let

$$P = \frac{b}{r} = -\frac{a}{r}$$

$$-1 - (1 - \frac{a}{r}) = \frac{1}{r} = \alpha\beta - \alpha\beta'$$

الحل هو (9)

$$n_{\text{ext}} = \frac{-a + c}{r} = -1$$

$$\frac{b}{ra} = 1 \rightarrow b = ra$$

$$n_{\text{ext}} = 1$$

$$a n' + r a n + c = 1 \rightarrow a - r a + c = 1 \rightarrow c = a + 1$$

$$a n' + r a n + a + 1 = 0$$

$$(a + r) - r a \beta = 0 \rightarrow 1 - r \left(\frac{a + 1}{a} \right) = r - \frac{r}{a} = 0 \rightarrow a = \frac{r}{1 - r}$$

$$c = a + 1 = \frac{r}{1 - r} + 1 = \frac{1}{1 - r}$$

جواب: (1.)